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I, (D Sarah is an excellent teacher who is popular (with) the students.
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Bob and his brother are 50 (alike) that I cannot te/l one frbm the other.
’, so~that... =fl] alike [BlT\\3 ] (FURMENA) tell A from B [A # B LRV %] =29% B-8
CR7L#EoB[RITETLBT V2 DTHRRESE RSB EHNTE TA) one ~/ the other ... =]
L oversiept this morning, so 1 missed the train (by) one minute.
oversleep M8+ - miss [N &3] by~ [~DET] w135 B-2, 283 A-2
(STREBILTLE 1, 20T TBOTEBHEIZEY Bh) .
He is financially independent (of) his father. (it R@» 6L < “w3)
financially [&i#%#9:i2 | be independent of ~ [~ 5B LT3 | be dependent on ~ =297 B-4

Strange (as) it may seem, he knew nothing about it.

(= Though it may seem strange) (E&MALE + as+S' +V') [~Ciz5 3 Al WFORR [XEKk)
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If we can't afford a car, we’ll have to do (without) one.
can’t afford ~ [~% %3 [#%-o] ##H%v] do without ~ [~ LT3 (= dispense with ~)
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J’'m not going to sleep tonight (until) I finish my homework.
until{till] ~ =B (%% #FRBHDLOCERRONETLBER) g 04]
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Thanks (to) your efforts, the meeting was successful. (%= OBH D5 ,iF TRERRYLELL)

If you want to reserve seats, you will have to pay (in advance). .
reserve [F#5% %) in advance [fis-7T) (= beforehand) @ in return 3538 L iz )
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Dr. Miller was unable 1o give his speech (due to) the late arrival of his plane.

be unable to do [~T&%\2] due to~ [~Dk i (Bllh) | =29% [ENEROTEH
@ according to ~ [~z k4UF] @ in place of ~ [~D b hi2] @ in case of ~ [~oBaii]
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(Most of) the students came to school by train,

(= Almost all the students) =273% C-3 (i3 & ALDEFRBBETHEEL T

* The laundry won’t dry quickly (unless) it’s sunny. (B#¢& ¢ BoTvhv L g+ ClZEEd )
laundry (34 0) unless ~ [~T&VEY | =FH sunny (B0 X <2

The warmth of the room made some of the students fall (asleep).
warmth [#8#4%] make (EE#HE) + O + BB ER =] fall asleep BA 3 |

cf. feel sleepy TRV

I’ve heard so (much) news about the scandal that I'm sick of it.
SO ~ tha?.. L4 88 ngs—lﬁﬁﬂﬁzﬁo Bﬂjs " besickof~ [~i25A %) LTwva)
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Something s wrong with the car! We must have a (fat) tire.

something is wrong with ~ [~(£ &= S REH 45 Lv ] have[get] a flat tire T# 4 Y#t3> 243 |
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We could meet downtown. (Will that be convenient for you)?
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Indeed he is young, but he is not reckless. (%5 z EREECH, BBz
Indeed ~, but... = It is true that ~, but ... [ 2 1R 8~ Hen |
He doesn’t know if it is true or false. (I RERME LODBR Y pathi b4 if = whether
He spoke in a loud voice so that everyone might hear him.
(BERAAZIHE 25 L5 ISKETELL) so that A may[can, will] ~ [A p~C%5Lk5 2] =
) BHO—T might 124 - Tz,
He likes her all the same, though she gives him a lot of trouble. though =F§
(ERD 5 FORARES pit SRTVBA, fdei ) ks & 7%) all the same [ #4914z & Aavd> 5%
He would be happy if he knew the results.
AT ORRERIULE S S 5755 5 12) (Rseitms b 11185 ]
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{Ted talks very little. (77 Fiiz& AL L vrs %)
*|Ted is a man of (few) words. (v Fizmmz A7) (® Ted is a man of many words.) =31# C-5
2 {He plays not only the piano but the violin. (#%z¥7 / 2213cs K744 2L E ) w308 A4
" (He plays the violin (as)(well)(as) the piano. ( it ) not only A but (alse) B=B as well as A
3 {You must handle these glasses carefully. (T 6075 2 EERE b AL £ TA)
You must handle these glasses (with) care. ( FL )
‘ with care=carefully with+ M&SH=BH ex. with ease=easily
Susan wants to marry a man who doesn’t smoke or drink. '
4 (R—HF 2125 83 @by BEOKE VA LS LIcwEBoTuna)
) TiEfE+ AorBTA 6 B b~%u1) ’
Susan wants to marry a man who (neither) smokes (nor) drinks. ( ALt ) =30% A-3
{I regret that she did not accept the offer. (BEAEDHE LB % B2 b5 2013 RE7)
“(To) my regret, she didn’t accept the offer. (4% = & K. BEEEOH L E iAo ) wfF
6 {,ﬂ\ough it rained heavily, he could reach the village.
R

G FDRES TV E SRR S EptTar) though =FH
n (spite) of the heavy rain, he could (ge) to the village.

(CEVEI b P hbeT, WIS H S eMpTEL) in spite of ~ =29% [RREROZ LB reach=get to

LBALRIZERL DI (kDB - bAPbOT), T RE LTwizen,

(With all his wealth, he is) still not content. .

(= Though he is rich, he is still not content.) with all=for all=in spite of =29% EMEROZZH
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(Don’t speak with your mouth full).

HHRBD with+O+ SR =93 B-3, D-2
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(Any book will do as long as it is) instructive.

any ~ [EA%~Tb )] ol willdo [$128 3, 14oc 3 TY¥) «22% B4
aslong as =l  instructive [7=ai=% 5]
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(No matter how hard I tried), it was beyond me.

(=However hard I tried) =Ff no matter how I tried hard & Lawvz e,

beyond [~##81 TJ =28% C-12
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